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1.

[0S UL RS A

—— s used in soda acid fire

1. W 3 afgmst W v
extinguishers. TR |
(A) NaHCO, (B) Na,CO, (A) NaHCO, (B) Na,CO,
(C) NaCl (D) NaOH (C) NaCi (D) NaOH
2. The Shivalik Hills cover the e e 2, ﬁ‘}mm 1 i firat whrmn tﬁ _
part of Maryana, M
(A) Norh-eastern (B) North-westemn (A) I -] (B) IH-qfvam
(C) South-eastern (D) South-western (C) T‘-’FW—-@ 1 D) ?ﬁflﬂl-— 'Tl:?a'«ﬁ
3. Find the missing term (7) § il i pe
0rCXD, BV b léj rom L\ta_cphnns p: .-CXE} EVF 7 IHJ KPLﬂﬁﬁﬁmﬁ
oo AT (2) I |
(A) HTG (B) GTH A HTG B
© es © MU © sk O Huo
4. Adveniure Sports Academy has been e
established in % W ¥ 'E;I it ( mzﬁﬂﬂw)
(A) Bhirrana (B) Rakhigarh —-—-———-—-——_A) e Whﬂﬁ"i’sgl
(C) Momi (D) Mundri © m:}lm (g] ™
(D) =
3. ::;“C:'f t:f Zngo:!owmg farm an AP 2 5. Fefafam d 4 shm T WHTE S
3,
(8) 03, 0.33, 0333 A 1, 1.2';:"‘.?";-':3.-;,3. e
l: } l ..1._ 1 (B) 0.3, 0133{0;'3‘33.' A2
: 2t 4 ] -a-.n--.- {C] _1_ 1 l
O) 5.2, 35, 55, . }“Ji J__ =
(O) ¥5,.v20 "
6. Hndthe,mis'singnumber (?)inthe sequence 6. m 125,7,27.8,1,0 qﬁqg@]
125,7,27,8,1,0. AL |
(A) 9 (B) 18 {A) 9 (B) 118
(©) 60 (D) 64 ¥ (0). e0um R D)ued
: | TRy 3 m‘m\a’ﬁ 12
. Aéadlg;ar 1132m Icgg. re?ches a girﬁw ?ié I : ""‘;ﬁ‘nﬂ m@r e ydert |ﬁ%
a Duildin ma ove the groun aris a;wm Rearf
%’ta%ca of the fnat of %-,3 laddai' frem [ '."'ﬁ‘\i Smrﬁmaaﬂ{s} IES
_ . m
uaa, s &, e TiRiasm © 1
G 25 m, o Mﬂwm'ﬁ‘turmﬁmf —a |} i S
8. %}*auah ‘hills-nre aise onlied as A 'm" A0 = rimr i
| ; iicHms  (8). Gaggo e o s @) wr
(A) gtive thilla '!DJ Himalay s i . (A ‘m‘ﬂ R e
ol
©) M7 |

L

B
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a. Recently central government has decided

10.

11.

12.

13.

14.

s o

1o merge three nationalized banks to farm
india's second largest bank after SBI, which

of the following is not included in the list 7

(A) Dena Bank

(B) Vijaya Bank

(C) Corparation Bank.
(D) Bank of Baroda

Ayodhva Prasad Goyalia introduced
to urdu literature.

(A) Dohe (B) Poem

(C) Sonnet (D) Shayari

If ROAD. is coded as 38, then LIGHT can
be coded as
(A) 54

(C) 56

(B) &6
(D) 68

In Mahabharata, Haryana is depicted as

(B) Patna
(D) Kurukshetra:

(A) Bahudhanyaka
(C) Hurriyanna

If ‘A’ means ‘+', 'B' means ', 'C’ means ‘=
and 'D' means '+, then
16A14C6D3B6=
(A) 108

(C) 38

(B) 42
(D) MNoneof these

Cansider the following and choose the right
one.

(A) and!

Mizoram -
i ! E ‘ . ~ T ey 'y shu_l_ma
(B8 tkai bum, Naga hilis and Lushajare
- .,l':;?u hilts, inhabited by nume_rnus_irgbsl

groups prac'ﬁs_lng Jhum 'c_ultluatidajl ,
(C) Both (A) and (B) are right

(8)}

.l:gl

11.

12,

13"

14,

" i nipur-:
Barak river flows in Manipuf -,

' Nene-of the above

10,

o 208 (1) (g4
gl B T W AR e
Fepeefer v T =M, 34T, 3 =0 v v, W_.:,iu
gl e = = o Tern b Bt 5
& - e g oo Ty '
(A) FTEE
(B) P d=w
(©) Hiitre d=5 -
(D), & Wi e

= oy e
(A) FE (B) =
(C) @iz (D) =

afz ROAD %1 2 38 2, 1 LIGHT 51 22 7301
=n-?

(A) 54
(C) 56

(B) 66
(D) &8

HEIT

TerarEE H, g
i T R |

(A) HEwT=TR
(C) wiar=n
R - At
' S D e o R A
6A14CED3B6=

(A) 108 (B) 42

(C) 38 (o) il § A

Frfirfos oy s e et A
) =T et wyfrge ;.ﬂ'{ﬁl’-'iﬁ'{“ el &

(B) et g, e et AT
RS g g

TR g awEin &
(C) (a) sive gy el &

(B) &
(B) F=A

(D) T @
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. The famous, ‘The Jungle Book', the story

associated with Kanha Tiger Reserve 6!
Madhya Pradesh and later an animatéd
movie was made in 2016 for which it won
Oscar Award, was written by

(A) Vikram Seth
(B) Aravind Adiga
(C) Rudyard Kipling
(D) Jumpa Lahiri

16.  Two coins are tossed simultaneously. The

probability of getting exactly one tail is
(A) 1 (B) O

© /2 © ¥

17. Four cubes of side 2 cm are joined end
to end. The surface area of the resulting

solid is
(A) 70 cm? (8); S6-cin’
©) 720 {0y, 2400

18. A wooden Instrument with tied up strings
played by using a bow is called as
(A} Chimta (B) Drum
(C) Damru (D) Saarangi
19.  Which of the following Harappan Valley
sites is the oldest one in Haryana ?
(A) Bhirrana (B) Rakhigarh
(C) Banawali (D) Kunal

20. Solution of the equation

"(_"{2'+1Jx_f,4"2'—_40-are
(A) 1,32 +1

®) v2.\2+1

(€ V2.1

D) ~1, 2 +1

ORI A

15. 9§ 2 st g%, nex wowr % wna am
T & 9 et e 2, 9  Rrgweots
ﬁ@ﬁ@ﬁ"ﬁ‘lﬁﬁﬁiﬁﬁmﬁa{m
e e, g fareh e
(A) fasam @

(B) ¥l sz
(C) TSdTS ferdier
(0) gaemteRe

16. 2 e o Wy IO ML E | 3 O T
T 31T o1 R B

(A) 1 (B) O

© b o %
17. 2 I TS <R T A 0 6 Y S
nud | afd 3 F g S B
(A) 70 cm? (B) 36 cm?
(C) 72cm? (D) 24 cm?

:f*n*arf’ HEE A

18. mﬁﬁﬂimnﬂi, 5T _aa-:zﬁ'ﬁréqm
w17 <t ST § S e €,
FEETE &

(A Fma
(C) Ba®

(B) 8
(D) B

19, #29 udl www ¥ Profefad O § =9-m
B A e 7

_m T (8) W

(C) =rereit (D) gver

20, FAFE X2 - (2 1) x + B = 0 1 wwr
(A) 1, V2 +1
(B) v2, 241
(€ 2.1
(D) -1, 42 1
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: oford Ba 5@ o g
21. Every year World Water Day is 21, ufirad . T
Str & |
celebrated on 5 o
(A) March 22 (B) April 22" (a) 2274 )
(C) May 22 (D) January 22 (C) 227% () ‘2230
22. Which of the following commission /plan | 5o fyerfefad 1 d fr a-mﬁ“ / ﬁﬁ“i i 3_'1:
recommended a three-tier confederation. | ST % e 3UHETE & P~ ¥
of sub-continent during freedom é@ﬁ{.ﬁ T
movernent ? o
(A) Wavell Plan (A) HaE A
(B) Cripp's Mission ¢ I..E.EJ- fs firert
(C) Cabinet Mission (C) - Ffa2 e
(D) August Offer (D) I WA
23.  Which of the following explanations is true | 23, A H wurit T % A H A 3
about local self-government in India 7 FFAH T e R ? o
(A) In Panchayath elections, electronic A) AR gt A o e § e
voting machines are not used in all HAeH wefis =y ﬁmaﬂﬂﬁ?ﬁr
the States: . TwE " aani
(B) \Lord Riponis ealled ag the fatherol | (B) T %
local self-government in India ! ' ﬁqqg =
(C) Bath (A) and (B) are correcl (©) (A) =i @y arwd &
(D) None of the above (D) I3 i T a8
24. Pots are rr!ad-la by using 24, qg 1 ﬁm%ﬁi i1
::: 2;‘:"3 :g: :asﬂc (A) wfta (B) enfErs
nest € == (D) i =
25. The earliest reference of the word ‘Haryana' . ‘Rt ] -
is found In s < o SR AT e &
(A) Chahamana {B) Rig Veda N -{A:] ) P 4
(C) AtharvaVeda (D) Bramhapurana-| ©) = o (£ e
O (D) W
26. The image lormed by a concave mirror-| 26. it G
is observed to ba virtual, ;amcﬁﬁﬂgﬂr ; ? A 2 g T ok S e,
than object. Where should be the position- 14] “'ﬂl'ﬂﬂrﬂiﬁﬁrfﬂ? | T T T
of abject 7 S B g .
A g‘j’,‘;";ﬁ?ﬂ”“’a' length and centre of (A) ey s it aw ot il
(B) At center of curvature (B) =@ Sg
{C} Beyond center of curvaturg ‘G}: st T T

(D) Between pole and principal focus

(D) W 3t g A
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27,

28.

29.

30.

31.

cﬁnsic_ler the tollowing statements in
to cultivation of wheat.
1) Wheat needs very high rainfall ang
very high temperature.

2) In India, wheat is generally grown in
winter season.

relation

Which of the above statement/s is /a
correct ?

(A) None
(C) Both 1 and 2

Fe

(B) 2 only

(D) 1only

The dance in which Gopis form a circle
around Krishna is called as

(A) Bharathanatyam (B) Rasleela
(C) Marathi (D) Bihu

The equations 2x + 4y = 8 and 8x + ay=32
represent the same straight line if a =

(A) 2 (B) 16

€) 9 (D) None of these
The products produced in aerobic respiration
bothin human and plant cells-are.

1) €O,

2) Water
3) ATP

-Choose the right code from given below :
(A) 1and2only

(8) 1only

(C) All the above

(D) None of the above

Which one of the following is fajge about |
auxin?’

(A gynthesised at the shoot tip I

(B) Helps the cellsto grdyu longer

(t diffuses towards the shady side whe,

(© light is coming from one side

(o) i inhlbits growth

27.

28.

iy

.
Download from www.MsEducationTv.com

30.

(TEREEO R EIETAn A
T il M % e i Frerfiafiam i w
fersm ¢ |
1) N e el et v i 3= o
) s et 2 |
2) W ¥ A it g 6
SR | .
Tkt H W A T A A R

(A) e e (B) w2
(©) 1ei2smi (D) W 1
a7 eu o mftet gon & =i o gw
2l E, FEATE € |
(A) WHTI (B) uEehar
(C) Wit (D) Frg
2% + 4y = 8 4 8 + ay = 32 FfiF! WA
it T wr A g a =
(A) 2 (B) 16
€ 9 (D) 3 & F
AT SR EEE A e s
1) €o,
2) w
3) ATP
Frafefiaa 1 4w 52 gf
(A) Faw 1 3iT 2
(B) ¥aw 1
(C) 3w wht
(D) 3faw 4 & wid e

L:Iﬁﬁl mﬁﬁﬁq-m ST B A i
R ? :

(A) &+ 3fid o ahveifive den &
(8) R %) €8 waz w2

(C) 1 G S & wawrer s 2, At @ @
N 3T Reafia s

(D) u=ghe =i T
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32, Bhiwani Canal has been drawn out of

33.

34!

35,

36.

37,

(A) Bhakra canal
(B) Okla barrage
(C) Yamuna
(D) Ganga

Which of the following 'sia;_BMénts is notlrue
regarding distribution’ of power between
Centre and States in India ?

(A) Residuary powers are conferred on

the Union Government.
(B} The scheme of distribution of powers
in the legislative, administrative and
financial fields are provided under the
Seventh Schedule of the Constitution
(C) Both {A) and (B) are correct
(D) None of the above

Find the word which is different from the
other 3 options given below.

(A) Teacher (B) Doctor

(C) Enginger D) Housewite -
The age of Mira's mother is 4 limes the
aqe of Mira. § years later, her mother's ag¢-

will be 3 times that of Mira's age. Find the
present age of her mother.

(A) 35years (B) 25years
(C) 40 years (D) 45 years
Brahma Sarovar is located in
district of Haryana.

{A) Thanesar

(B) Fohtak ,
(C) Ambala
(D) Faridabad

it {<1) Is a'zero of polynominl
p(x) = 32 =7 + 10K, than value of k &
(1 By =t

32.

33.

34,

35.

36,

“37.

figrftmer Aty
(A) A TR
(B) e A

(C) 41
(D) T
ErRrfd 1 & A -H 9Tt H F7 s
mﬁﬁfmﬂ%’ﬁ#ﬁ'z‘dﬁﬁﬁWJqﬁa
(A arafive it %7 FET A Fifea & |
(B) faurd, woval= AT ﬁ?ﬁu CEI
] 3 deait #1 A WA F
mzﬁ_.ﬂga@?-%s'aiaﬁﬂa’inﬁ |
(C) (A) 3 (B) 2 T &
(D) FFH @ wE T

Tw e T A A P T 35 ff e
afEe

(A) - Rege (8) Ffeeaw

(©) 3 (o) el

i i sTief =6y 3 W 1 T H 4 TR |
531 w1 ey el =R 2Ry 0 g 1 3
B | el wre ) AaaE g e
(A) 35 (B) 25
2 (D) 45
'm‘:'ﬁv Fast I i'_t\'l_'ﬂﬂat-
Rmg, ~ |
A grigr

(B) iremps;

(C) “sithrly

AR el iy = 0 — 7304 10T QI
R kmaam et

(A) 1 (8} =1
(c) = {n o
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39.

40.

41.

42.

43.

44,

o death of Harshavardhana,
fﬂ vings ruled Kannauj,
(8) British

{A} MughﬂlS
(C) pratinaras (D) Chnlas

the following IS Not an exa
nisms that breakdown th";plg
| outside the body and e

which of
{or the orga

absord it ?
(A) Bread moulds (B) Yeag

(C) Mushroom (D) Cuscuta k

Ambala is famous for
(A) Watermelon (B) Mango
(C) Jack fruil (D) Apple

Which of the following is a mechanical
wave ?

(A) Gamma ray
(C) X-ray
Which of the following is incorrect with
reference 10 Gandhiji and his association

with various bodies ? .
() Hewasa member in Cripp's
. Gommission.

(B) Soundwave
(D) Radio waves

(i) He was a member in Central

M Legislative Council.

(i) Hewasa member in Constituent
Assembly.

Select the right one :

(A) (i)only (B) (i) and (ii) only

(C) Allthe above (D) (iii) only

If 3 tanA = 4, then value of 1-sinA i
1+ cosA

1
A 2% ®) 2v2

—E‘E 2+ '3

If x* + 4x + 4 is divided b B
d by x4 2
remainder is Ll

(A) -2 (B) 2
(C) 0 (D) None of thege

TV AR R

a8, s ) YRy A a3
el W wiwa g ,
(A) e (@) Ffeur
(C) wiien (D) A

9. Fre=fafan 1 2w - v ol o e ang

40.

qrd =1 e s {5l i F
AT sfie =i S i 2

() FEwED (B) W=

(C) wEE (D) FHEE
s w e d |
(A) T (B) W
(C) =heee (D) Ha

41, Tt § 4 Sn-w v AEE A e

(A) e e (B) wAf A
(€) twa-fam (D) TR

A2, T st Tt el G TEm

i Frfian ¥ @ -, e &
() o e i & g e |
(i) e Hei o o FOHE G Y |
(i) 2 AR w0 U 3 |
W : |
(A) Fa () () e (i) ()
(©) aah () = (i)

~ [1-sinA
43, dk 31an,A=4.~ﬂ'T--‘ m A

_,.‘*"5 o e .1 .;. .‘-
A 22
- E . ﬁ;ﬁa i
_xz+-4x.+4'&:rx*?—ﬁ - '
a8, TGN
mﬁﬂa‘ff“ B
A o) TR

© 0

-8«
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15, The real foundation of the Sultanate
dynasty was laid by
(A) Babur
(B) Ghori
(C) Qutb-ud-din-aibak
(D) Akbar

46. Four resistors 2Q, 4Q, 60 and 8% are
connected in parallel. It is connected to &
battery of 24V, Find the current through B0

resistor.
(A) 4A (B) 25A
(C) 144A (D) 10A

47. |f 18" March falls on Wednesday, then 17
March was on
(A) Tuesday (B) Sunday
(Cy Saturday (D) Monday

48. The Gram F‘_angha;yath..works for

____years.

e o
© 5 (D) 4

49. HUDA means

(A) Human Development Authority

(B) Haryana Urban Development
Authority

(C) Haryana Urban Destroy Authority
(D) Human Rights Authority

50. The radil of two circles are 12 cm and_l,

4 cm respectively. The radius of the circle’ |

which has circumference equal 10 B.le'i»ﬂj
thle-.clrcumté}"ﬁnce of the two clrcles |G

(A) Bcm
(B) 16¢cm
(C) 6cm

45.

46.

47.

48.

49.

ME50:

(D) Mone of these

L
Download from www.MsEducationTv.com

412013

: 1
Heaaa A1 ) AT W) (&)
1 | ' W
(A) T
(B)
(C) TGN F
(D) A
an ufmue 20, 40, 62 & 80 mrE

i g2 ¥ |3 0 24V F FAAEE 160
(A) 4A (B) 25A

(C) 144A (D) 10A

F: 18 1 =) AT &, 4 1 7= i
. Em |

(A) TTETER (B) eram~

() W (D) FHAR

T E |

(A 7 B 6
{C) 5 (D) 4
HUDA = 1¢f &

(A) iﬂ(ﬁw:‘gﬁmﬁzmﬁi‘rﬁﬂ |
(B) feron s e A el
(©) s v R SR
(D) T g S
i 91 =y e, F#AE 12

£ rera e 2T

s ape 4 T
*"’“ﬁrmmﬁ'
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Canslder the following smiemm\‘l’s: related

o ta fransier of British capital from foolkatia to
Delhi.

1) Architecture

of Mughul, Bud

culture.
2) The decision was taken in 1911,

when King George V was crowned in
England, & Durbar was held in Delhi
to celebrate the occasion,

3) Lord Harding was the viceroy at thal
time.

4) Two architects, Edward Lutyens and
Herbert Baker, were called on to
design New Delhi and its buildings.

5) It took 20 years to complete the
structures.
Whiich of the above are true ?
(A) All the above

(8 1,3,4and5

style is a amalgamation
dhist and Greece

{C) 1,3and 4

(D) 1,2, 3and 4

2017-18. ngiss
Ay 22 (B) 23
(C)y 24 (D) 25

53. The Tashkent Agreement was signed
between India and

(A) China

(B) Pakistan

(C) Bangladesh

(D) None of the above

INCETYERNRm y
51.  Frfemt Tt 60 Fvermrn @ e
:ﬁgd ;;1 % M 3 By Tt
1) AARTFE Dl G, Frg afvr s
R s R g b
2) Fokr 1911 % By 1, w4
STt v 2§ 3 i %, fesh
8 SR 3 ¥
e R
3) ?-ﬁé%ﬁn?m Y FiEEy 9 |
4) a’r AEGHR, Tead wfiey sk wis

aﬂﬁqﬁﬁﬁﬁaﬂtmﬁmﬁw
T AT i R g
5) WIS gt %7 7 20« et
A A AA-mram 7
(&) I @it
(B) 1,3,43M5
(C) 1,334

(D) 1,2,3304

54. Find the number which is not like the other’

3 numbers.
(A) 239 (B) 628
) 325 (D) 459

52. R H 2017187 R |
(A) 22 (8) 23
() 24 (D) 25
53, WA AN 3 ol AT AR
| g g
(a) =
(B) T
G
| '-',;".:51‘ o @ 16 L S 3 A Fenai 2w
Ay 239 (8) 628
(c) 325 (D) 459
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English Language

Fill up the blanks with appropriate conjunction-

It rained _____ three days withoul

stopping.
(A) while
(8) for
(C) during
(D) since

69.

70. he works hard.

He will pass
(A)
(B) and
(C) if

(D)

as

while

Choose the correct option.

71. The woman was carrying a
‘bag. '
(A) bl_ack small plastic
(B) small and black plastic
(C) small black plastic
(D) plastic small black

72, The more eleciricity you use

(A} your bil will be higher

(B) il bé higher your bl

(C) the higher your bil! w.ull be
(D) the higher your bil mlghf be

Fiil in the blanks with app ropriate preposiﬁnm |

:L'Tn '.53

73, They walked : ‘the Wm
until they came 1o & smal| Eﬂdgq,
(A) along
{8) in
(C) ncross

(0)  through

-

412018 (1)
74. The truck came lowards tham

the bridge.
(A} by
(B) above
{Ci through
(D) across

(€1 1)

Choose the correct meanings of the idioms
given below.

75. By dint of.

(A) Slowly and g{adu_ally

(B) By means of

(C) Without s’teady application
(D) By any means

Fair field and no favour.

(A) Upright
-{B}"»-"-Wi!hbutatﬁékery

(C) Equalcenditions in contest

76.

(D) Honesty
Choose the correct form of the verbs.
77. Next month | __Dareck for
20 years.
(A) know

'E_E},""'Wifl'havé'knawn
(C}' am knowing
(D) will have been knowing

78, E\'ﬁr}'thing Is going woll. We

any problams so far.
(A} didn't have
(B) don't have
(C) huxfn:ra'l il
(D) hahint (I |
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RNV

frmst v g4, uel)’ wvE A B Y
iy’ For T o FEA T R 7 (A) nfert ) it
(A) O (B3) 17 (C) "‘-ﬂ?'ﬂf!: D) = l'ft?il.r.,
(C) Ima (D) =iwey 85. SITENT ¥ = a0l 1\ e o o 3
& i, o () R 2
A ﬁm ! \B) S (C) g @ W ST
(€) T HIH (P) <y (D) ER AR T
‘g W e | WA e | s, e A
T i (1) (am)
() TTerEITSFR T, Yfewim, sgeed, 1, A, 19
R, wed 2. wfie- =T, 74
(B) =AfFET== T3, Qe Sgae, F 3, - 3-89
R, ©ed TR 1 FH 4. SEEt ~$g7
(©) ftrarers: &, gfew, agaem, () 1-§ 2-303-H 4-%
FAHICF, mﬁﬁqmm-—vﬁ 4B) 1-3 2-¥ 3-% 4-3
D) HfFET W, Ifee, Fgae (C) 1-21 2-3 3-¥ 4-3
i m*::%;ﬁ:m%[# 3 D) 1=31 2= 3 3-F 4==r
82. Uﬂﬁmﬁﬁmgﬂnﬁﬂhgﬁmﬁ 87. (ET ;ﬁﬁﬁ?mm?;zx;r
o 2 T | (C) ¥ (D) 3@
et i, o 88, Pt 4w adef a o IR
(B) TH XTI I FAT G | b & i
(©) T v R A G | 1 -
< T ) FE TR | (C) it (D) FriRa
w o 89. ﬁtri“eiﬁaaqﬁuamrww"ﬁ
83. WMﬁ . @) P
(A) TS @S WA MU Far g | © q:;m
(B) {aﬁmmﬁﬁmnﬂhﬁmgl %ﬁuﬁﬁﬂ'ﬂ%1 el e
(©) A @S W A € | Eﬂm%? e
(D) a—.ﬁ@wwnﬂwmm:ﬁ;m 14);.3-11;1' | _.(B} ﬂ‘;ﬁ
o AR E | ©) = (D)
-—-_"‘V
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